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Bnt in addition to such imports of capital goods, a
further consequence of the excessive-aggregate pressure on
Canadian resources has been a rapid expansion in the importation
of consumer goods including, of courses parts and-material s
tor further assembly or manufacture in Canada . Th6se have risen
every yeaT but one in the past'ten years, and seem likely in
1960 to be at least 25-per cent higher than in 1956 and more
than double the 1950 level .

In other words, we are incurring foreign debt to
pay for both a level of capital spending and a-standard of
comfort which are higher than would be justified by our own
earning capacity .

I have no doubt that our exports could be further
increased and our imports could be reduced if we adopted a
more moderate approach to capital spending in Canada .

If there were a substantial reduction in capital
expenditures on the part of governments and business
enterprises alike, and so in the demand for capital goods,
imports of this character would be less .

Moreover, if so much of our own productive resources
were not devoted to construction, more could be utilized in'
production for export and more could be devoted-to production -
of various kinds of goods for the domestic market at competitive
costs and thereby bring about a further reduction in the volume
of imports .

It must be assumed that little could be done to reduce
the net total of $1 billion a year-which we must pay by way of .
interest and dividends*and for other non-merchandise purposes
over and above our receipts of the same characte :~ . (A possible
réduction in the net bill for some items would probabl y
be offset by some continuing increase in the amounts paid out
by way of interest and dividenfls . We could; however, if
we bring to an end the process of heavy foreign borrowings
each; year, greatly reduce the rate of increase in the annual
burden of net payments of interest and dividends to foreigners .)

If we were now to resolve to live tirith3n, our means --
which includes paying out of current income the heavy interest
charges on past foreign borrowings- -- our merchandise balance
would have-to be rectified to the -extent of $1 .5-billion a
Years either by increases in our exports or decreases in our
imports or by a combination of increased exports and decreased
imports .

i~ivinR Within Qur ye ans

Supposing we had been living within our'means during
the past five or-six yearss what would the difference in capital
expenditures have been? This is a matter for conjectur e
and no doubt every person would have his own ideas on the subject .
We must realize$ howevers that it w+ould- have meant that we would
have built fewer houses and perhaps lower-cost houses (actually,


